" a5 - "
(Sié—)) g = ;-_%) ¢ D k3
5 -1 o e ( rh
o I~ . S % 5
Zf Oz 2/x (%d?‘f’ﬁ) | z_t/;cux T
(xJxth) 2
R
O =3 (4+h)~ 1L ¢ SCRE-1 .
P4 ; = M 2 Jery
()(“J) (;45)2 ('__“3) P - EQC {bz)
2. a (oK DAL ikt A a=% (L3
ass ¢ & "5y YU 2lonin 77
2
. " It i 2 (’/f€
5 T - max
i L S
AUzt Iy
2
o 2X .y . ——
-19 Uf__ R - &%1 ' G- 'U)(ifcg,z S
aias - i e __-_._’_______'_____.—-—'—" —
_.__________.————-—-'d-—__._ o
(SJ’:’) ﬂa_(_az ‘(Z'fao‘
2 e X" SR
& = m* ﬁ;a::?
D 2
O—_\(Z-#Q*n&:qz%o a >0

|U\J i X vi ﬂﬁ?’ /;15'?) pf
S i = i CL: oo
3 ‘JT?’ T m = ~ e
_— = ) ’ bl ]a
=% ')\an)t i ﬂﬁ\/ W= gy
\/’gﬁ / / . 2 21X A = l) B i e
= 2 : JC 2x) (1+x7) + X (a-x ‘ e
(5932) a , -X) (. Z) l’%\"n
A Vq-X) (X |

=

) 5
— 2% .’l\(5+ IXG~—2x 2
— 2x({+x=atx*) = O

O

(=2)
s l(.{*y{{) <o
oL =%

- &\x(lxz*ﬂl‘ot\ <o
= 2x( D_Y\l-gg) =9

x<o X=2 ><=v;j

RN (3 S NN

~-3

lfc)ﬂl .

SR e pard Y03
Wigh a L )% Bhd P37
X= 2 "y SN

(0-4) (M) = (0-4) €= P20 ~o

IC=¢

2(%\%\ AhA ?\\ =% 3 ok W) R

http://heshbonia.com/ ™% nme niarn 7

(E?*Y?) (IRd) =0 sy oyop 3 ph

XN /\ltp"}‘imﬂl 6']\)


http://heshbonia.com/



